
(1) (�+33�)÷(�−1�) (6) (�−9�)÷(�−7)

(2) (�+12�)÷(�+6�) (7) (�−60�)÷(�+5�)

(3) (�−50�)÷(�+25�) (8) (�−10�)÷(�+2�)

(4) (�−34�)÷(�−17�) (9) (�−5�)÷(�−5�)

(5) (�+54�)÷(�鱅6�) (10) (�+10�)÷(�−7�)

正負の数(割り算)
問題：次の式を計算しましょう。



(1) (�+33�)÷(�−1�) �=鱅33 (6) (�−9�)÷(�−7) �=(鱅9)×(鱅鱅）

�=+鱅

(2) (�+12�)÷(�+6�) �=+2 (7) (�−60�)÷(�+5�) �=鱅12

(3) (�−50�)÷(�+25�) �=鱅2 (8) (�−10�)÷(�+2�) �=鱅5

(4) (�−34�)÷(�−17�) �=+2 (9) (�−5�)÷(�−5�) �=＋1

(5) (�+54�)÷(�鱅6�) �=鱅9 (10) (�+10�)÷(�−3�) �=(＋10)×(鱅鱅)

�=鱅鱅

正負の数(割り算)
問題：次の式を計算しましょう。
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